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et x=1%= x =17
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BC + DE 2] Zo|&=?

D 11 @ 12 ® 13 @ 14 ®)15
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AB, AC 9] 53°| D, E°o|B&
1
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20. the 197 Zol thzhAle] A= Hwshe AZHE ABCD A a ©f
ahe ol

AB°+CD° =BC’ +AD °oluz
a®+ 6% = (a+1)% + 42
a®+36=a*+2a+1+16

19

20 =19 ..
a 9 a 5
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th 2™l A D, E, F = 212 BC, CA, AB 9] T3 °|t}. ADEF

o] Yol7} 3em? & W}, AABC 2] Hol=?

A
E
B D C
D) 12cm? @ 13cm? ® 1l4cm?
@ 15cm? ® 16cm?

AAFE = ABDF = ADCE = AFED (SSS &%) °]E2 AABC
o] Wol=
4 x ADEF = 4 x 3 = 12(cm?) ©]t}.
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DC o] 53]
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AAEH = AEFH
AGEH = AHEC

. oOEFHG = oAECH
AACH = 1AACD

AAEC = gAABC
. OAECH = %DABCD

. DABCD = 30AECH = 3onEFHG
:3X15:45(cm2)
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